
S.S.C–Mathematics. (Guess Paper)

Paper – I

Time: ½ Hr.


         Part-B



Marks: 15

Name of the Student ………………………………………………….. Roll No…………

NOTE:-
a) Each question carries ½ marks.



 b) Answers are to be written in the question paper only.



 c) All questions are to be answered.

 d) Marks will not be given for over written, re-written or erased answers.

      I)     Write the CAPITAL LETTERS showing the answer in the brackets provided against each question.
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3. Similarity of two triangles is ………………..relation.



(
)

A) Reflexive
 B) symmetric

C) Transitive 

D) Equivalence
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A) B


B) A

C) R
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6. The product of two consecutive odd numbers is 15 then their A.M is ….
(
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A) 3


 B) 4 

C) 5 


D) 6
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A) 13 


B) 16

 C) 18 


D) 24
9. The 10th term of the A.P 13, 8, 3, -2 … is ……………..
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A) -32 


B) 32

 C) -57 

D) -52
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A) 423


B) 323 

C) 527 

D) 373

[image: image30.wmf]II) Fill in the blanks with suitable answers.
11. The nth term of a G.P is 
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 then the common ratio is ……………..

12. 
[image: image32.wmf](

)

ppt

Úº

:

 is ……………………………….………………………….…law
13. If 
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17. The area of the polygon enclosed in between 
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18. A line divides the plane into ………………….……………..….disjoint set of points.
19. The number of multiples of 9 in between 1 to 500 …………………………….

20. The harmonic mean of 
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III) For the following questions under Group-A , choose the correct answers from the master list (Group-B) and write the letter of the correct answer in the brackets provided against each item.
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A) (3, 5)
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B) (5, 3)
23. Discriminant of 
[image: image45.wmf]2

0

bxaxc

++=

 is 


(
)
C) 
[image: image46.wmf](

)

pq

Ù

:


24. Solution set of 
[image: image47.wmf]xy

³

 and
[image: image48.wmf]xy

£




(
)
D) 
[image: image49.wmf]2

4

bac

-


25. x = 5 and y = 3 intersect at …….
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H) x = y
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29. If (x-2) is a factor of 
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